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ELrt At deHolHz 155 H 657 7t dl 256271 2
HUtt. o] dejHolH = 155 H 757 7he H dele A2 2
297 FsHA L.

> E

[N

> =t 30.72%

Z Ze7h= ol A7 Azt 25.6 + 5 = 5.12(%)
SHE 757 7=t A= ARE 512 %6 = 30.72(%)
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oh2 Aot & o] Yo7t 47.3cm? & o, Aok & o] W o] Hol=
of 2 cm 1A HrZHsto] g FA4 A 7R UEHH AL L. (9 -
0.666--- — 2F 0.67)

- .-6.4cm. o

(A2 E2] Ho])= {(oFAH)+(HH)}x(=°])+2
47.3 = {(°1EH)+6.4} x 6.3 + 2
47.3 = {(oF¥)+6.4) x 3.15
{((oFAH)+6.4) = 47.3 + 3.15
(o}=hH) = 47.3+3.15-6.4
=8.6158---

uha] o} HHO| Zoj= 2F 8.62cm YU T




D7} 55591 ¥ AR H2E BAE 368714 BekEUL o] B

|
5737 e] FAIE dkg 814gdHtt. T} oF B2 9] FAIE oF H g91A
RSt &5 S A7 FSFAIL. (0.666 - - — °F 0.67)

» E: g

> "l 9F25.22¢

~&B

4kg 814g=4814g

(&3S FA)=(A FA)+5

— 4814 + 5 = 962.8(g)

(& &R FA) = &2 FA)+ (LA 36 82 2] FA)
(T2} 36521 2] FA)= 962.8 — 55 = 907.8( g)

(A} 1821 9] FA)= 907.8 + 36 = 25.216- - -

= 2F 25.22(g)




